H & 0l & AHS B Ml A
20288 =& 13 Lota| 2AAMI R
A 2HAMEH M
M AQYERE S MHIA HB(EH/2HAA=)
thel: HE2 2 MHIA HE EER=E)
A - F3 - SA(3H) - HRANY - BES Off &K & A HusZ
SAALI A1 2,928,356 2,834,082 9,274
= 458,001 454,326 3,675
) 169,678 169,840 A162
< 466,923 455,123 11,800
Al 1,833,754 1,754,793 78,961
ANQIYES g MHIA MBS (EH/242=) 2,014,886 2,020,470 5,584
= 265,379 261,704 3,675
Jl 142,515 142,677 A162
< 360,443 38,643 11,800
Al 1,246,549 1,267,446 ~20,897
HE2 ZAHIA HS 202,117 197,347 4,770
SAMHIA SA 202,117 197,347 4,770
201 Ler=23 | 44,652 41,982 2,670
01 At2teltl 24,202 21,532 2,670
OSEEHIA 2A 25(012 8)
500,000 500 0 500
OSSE2AAA 472 0ld SI+==2
350,000 350 0 350
OSSEHIA =2 d=2clt]
250,000 250 0 250
OSESE2H2A =24 OIAHIZ
1,300,000 1,300 0 1,300
OZZEHYA =4 HANAHE S ==2
200,000 200 0 200
OSEEHAA MEIH2(8I7)
70,000 70 70
406 J|EHAH=01H 2,100 2,100
01 JIEtA=201H 2,100 2,100
OZBEEHAA =4 dUHEES AA=E
2,100,000 2,100 0 2,100
SHE ZAnS2el 364,892 365,216 324
) 31,365 31,527 2162
< 8,731 8,763 AR
Al 324,7%6 324,926 2130
SAHAZH2AR ALY 59,901 60,225 N34
) 29,951 30,113 A162
< 4,064 4,0% AR
Al 25,886 26,016 2130
307 2I2to1 36,636 36,960 2324
Jl 18,318 18,480 A162
[ 3,664 3,6% A3
Al 14,654 14,784 2130
01 22 ZH 36,636 36,960 N34
OZSEtAt IHEEEL ZA
2,183,000& 2,188 2,142 46
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M AQYERE S MHIA HB(EH/2HAA=)
ol A 2Eiisa (Cre|: ®M2)
S - B - SRA(3) - HIRAY - BES ol &y JE-R HIRS2
Il 1,004 1,071 23
S 219 214 5
Al 875 857 18
OYagais X X 790,000 790 1,160 A370
Il 3% 580 A185
= 79 116 NG7
Al 316 464 A48
A 2elHAH = 220,584 309,544 88,960
= 11,704 11,704 0
Il 1,750 1,750 0
= 12,579 12,579 0
Al 194,551 283,511 288,960
ASZEE olg2el 193,676 282,636 288,960
01 14| 85,012 84,95 56
04 JIZtNZ22 NS 2+ 85,012 84,956 56
OIRHZZ2RNSES(HEE2 A 4AIRY) 85,012 84,956 56
04LHEE 74,456, 9602 *10.795% 8,038 8,001 37
0 HIIRLEHRHS
74,456,960 *3. 545%+12.81% 339 320 19
201 L2 100,464 171,280 A70,816
01 At2teltl 93,144 160,960 N\67,816
OzZgd HYI= Xceld
150,000 « 122 1,800 12,000 /10,200
Oozggaelg s Sz
198,000 +82 1,584 0 1,584
Oodgilzs 23 25 7+ 15,500 25,500 210,000
odled BEs= 30,000 *200MI & 6,000 12,000 26,000
oUHEE 5,000 *1,0000H 5,000 9,000 A4,000
OHEazA 23 AldE Xt 45,720 49,920 A4,200
odgdlEga SSeHEA Yt o 0 4,200 4,200
OZ2LH9 &9 & og=sE Y 13,000 58,000 /45,000
o OtAI(YEH KFHM) S
50,0003 »1002f A 5,000 50,000 45,000
02 324l 7,320 10,320 23,000
Ozggacls ASkE FA L2l
500, 000 *2CH 1,000 2,000 21,000
Odgdza HEE S7 72
500,000 x4 2,000 4,000 22,000
202 0| 1,200 2,400 A1,200
01 2L AL 1,200 2,400 1,200
OZZLH9 &#AIX 0185 & SH =5 048l
100,000 «12& 1,200 2,400 1,200
307 212+01& 5,000 22,000 A17,000
01 22 +=H| 5,000 22,000 217,000




2A:
X XH -
o e

=aak

BARI T D}
ARIES o2 MHIA HIB(22/221002)
JF
o

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
SEEINFENEEEET
100,000 *508 A 5,000 22,000 A 17,000
MeXlz ZelMA 2= 2,500 3,000 A500
DZLHI MHEXs 843 29X 2,500 3,000 A500
202 Ot 0 500 A500
01 =04 bl 0 500 A500
ONEXIE 2 2d &I 0 0 500 A500
ol U SZoF JIBEH 1,219,793 1,140,363 79,430
= 253,675 250,000 3,675
| 109,400 109,400 0
= 339,133 327,301 11,832
Al 517,585 453,662 63,923
X012 A0 MZ2DIs BELAY 170,000 97,920 72,080
= 51,000 39,168 11,832
Al 119,000 58,752 60,248
308 KXIHMSOIH 170,000 97,920 72,080
= 51,000 39,168 11,832
Al 119,000 58,752 60,248
11 S 2SOt & X &AL 170,000 97,920 72,080
OZx2ZH A0t M2)s B2 AHY
170,000,000& 170,000 97,920 72,080
L= 51,000 39,168 11,832
Al 119,000 58,752 60,248
=4 otMae| K 7,350 0 7,350
= 3,675 0 3,675
Al 3,675 0 3,675
402 QIZ2ERHE0I & 7,350 0 7,350
= 3,675 0 3,675
Al 3,675 0 3,675
02 QIZEXHE AL B X (01 &THE) 7,350 0 7,350
O==4 ordze| X2 At
2,450,000 *30H 2 7,350 0 7,350
= 3,675 0 3,675
Al 3,675 0 3,675
SSHMX 843 NA(MHSHESAI| B2 NY) 4,000 4,000 0
| 2,000 2,000 0
Al 2,000 2,000 0
402 QIZ2ERHE0IE 2,000 4,000 22,000
| 1,000 2,000 A1,000
Al 1,000 2,000 21,000
02 QIZEXHE A B X (01 &THE) 2,000 4,000 22,000
OS=HX 435 X (AHs4E52)| 2
= X&) 2,000,000& 2,000 4,000 22,000
| 1,000 2,000 21,000
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M AQIURE OBMHIA RB(22/220R)
SH9l: oloF ol SZOIE JIYEA (crel: g)
SN - BE - SA(B) - NRAY - BES 0 & ol o HIRE2
Al 1,000 2,000 1,000
405 RHHFSH] 2,000 0 2,000
p 1,000 0 1,000
Al 1,000 0 1,000
01 AU SEF S| 2,000 0 2,000
OSSHA 243 N (HSHFE2AI| &
2 X¥) 2,000,000 2,000 0 2,000
p 1,000 0 1,000
Al 1,000 0 1,000
HE FIMBEE BE(2A/ABOIHOIH) 508,426 574,026 19,400
= 192,622 192,622 0
= 106,480 06,480 0
Al 294,324 274,924 19,400
M - olopE orMue| st 508,426 573,026 20,400
= 192,622 192,622 0
= 106,480 106,480 0
Al 294,324 273,924 20,400
NZIM oIF IR 34,600 14,200 20,400
201 YBr2t| 31,400 11,000 20,400
01 AL 22| 31,400 11,000 20,400
OoraAlY NS T2
20,400,000 20,400 0 20,400
AT FEQAIM HREXI(FIM0|D)) 0 1,000 1,000
AN SRR (2 A])(FI 422D} 0 1,000 1,000
203 R ZIY| 0 1,000 1,000
PNEESSISEE S 0 1,000 1,000
OAIBANS HRET(2A) 02 0 1,000 A1,000
HH2HAYI(SAAMI D) (OIEHIIEH 267,406 239,586 27,820
pJ 27,163 27,163 0
Al 240,243 212,423 27,820
o= 2| 157,879 30,059 27,820
o= 3| 157,879 30,059 27,820
201 2Pty 34,979 104,959 30,020
01 AL 22| 65,479 60,450 5,020
OBAA A A5 S
250,00024 63! 1,500 0 1,500
O=8 S MEXe I YRt
880, 00021 +43| 3,520 0 3,520
2 2229 69,500 44,500 25,000
ORN2Y T2l 65,000, 0002 65,000 40,000 25,000
203 R ZIY| 12,200 14,400 £2,200
EEBINEEES 1,280 1,320 A0
ORI HLFTY| 40,0002 %292 1,160 1,200 A0
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